Use the appropriate form of the verbs given in the brackets.

1.
2.
3.

8.
9.

Yesterday, my mother and my sister (watch) a movie.
Peter and John (go) to the park every day to exercise.
His grandfather (buy) him a chocolate every evening.

They _ (be) good people.

There _ (be) 365 days in a year.

One of my friends __ (have) gone to London.
Heand!  (be)at Cambridge together.

Each of them __ (be) capable of winning the race.

Neither Rohit nor Seema (be) responsible for this.

10. Slow and steady (win) the race.




8.

9.

Answers

Yesterday, my mother and my sister watched a movie.
Peter and John go to the park every day to exercise.
His grandfather buys him a chocolate every evening.
They are good people.

There are 365 days in a year.

One of my friends has gone to London.

He and | were/are at Cambridge together.

Each of them is capable of winning the race.

Neither Rohit nor Seema is responsible for this.

10. Slow and steady wins the race.




